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1 100kN/ m##8 %% - -~ — —|3mZEEZD -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00 | 0.00 ~ 4.67 5821 | #nlust | 000 ~ 0.00| 1.62 8.19 zh s 1.00] 500 ~ 5.00 5821 | Zn st | 500 ~ 500 | 1.62 8.19
2 100kN/ m##8 %% 1.00| 000 ~ 043 106.30 |3mZE#BZ 5 - ~ — — —| 100kN/m#%#8%%| 1.00 (1057 ~ 11.73 106.30 |3mZE#BZ 5 -~ - — —
zh s 1.00| 043 ~ 8.21 100.00 | 1A%+ | 0.00 ~ 8.21 | 2.23 11.30 zh s 1.00 ]| 500 ~ 10.57 100.00 | ZHLA4 | 500 ~ 1173 | 2.23 11.30
3 100kN/ m##8 %% 1.00 | 000 ~ 0.22 103.18 |3mZE#BZ 5 - ~ — — —| 100kN/mi%#8%%| 1.00 [10.54 ~ 11.11 103.18 |3mZE#BZ 5 -~ - — —
zh s 1.00| 022 ~ 8.00 100.00 | ZHL A%+ | 000 ~ 8.00| 2.21 1117 zh s 1.00] 500 ~ 1054 100.00 | ZHL A4t | 500 ~ 1111 | 2.21 1117
4 100kN/ m##8 %% 1.00 | 0.00 ~ 0.60 108.86 |3mZEi#BZ 5 - ~ — — —| 100kN/mi%#8%%| 1.00 [10.54 ~ 1221 108.86 |3mZEi#BZ 5 -~ - — —
zh st 1.00| 060 ~ 8.38 100.00 | ZHL A% | 000 ~ 838 | 2.21 11.18 zh s 1.00 ] 500 ~ 10.54 100.00 | ZHL A%t | 500 ~ 1221 | 2.21 11.18
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zh s ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zh s ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ ImFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 % % ~ InFRBRD ~ 100kN/ m##8 %5 ~ ImFRBRD ~
zh s ~ zhnLs ~ zh s ~ s ~
100kN/ m##8 % % ~ InFRBRD ~ 100kN/ m##8 % 5 ~ InFRBRD ~
Zzh s ~ st ~ Zzh s ~ st ~
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